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МАТЕМАТИКА



2 *6
9 *2
2 *4
7 *2
2 *5
8 *2

18
14
12
10
16
8



Найдите периметр

2 см

4 см

2 см

4 см

Решение:

Р    = 4+2+4+2 = 12 см

Р    = (4+2)*2 = 12 см

Отчет: 12 см.
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Решение задач на 
деление



Пальчиковая гимнастика



5 апреля.
Классная работа.



Обяснение новой темы



* 8

Решение:

6 : 3 = 2 (ябл.) – в одной тарелке.

Ответ: 2 яблока.

Объяснение новой темы



Задача №1 с.60



Задача №1 с.60

Решение:
10 : 2 = 5 (ап.) – на одной тарелке.
Ответ: 5 апельсинов.



№4 с.60
1 группа 2 группа 3 группа

28+x=28
x= 28-28
x= 0
Ответ: 0
Проверка:

28+0=28

x-74=0
x= 0+74
x= 74
Ответ: 74
Проверка:

74-74=0

y+6=12
y= 12-6
y= 6
Ответ: 6
Проверка:

6+6=12



Домашнее задание
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